Name	Forum Name	Number in Party	Status	Friday Night	Saturday Night	Notes	Site Info						1
Jeremiah	silentorpheus	1	Confirmed	1	1	Hiking in Friday from Batsto, Hiking out Sunday.	Reserved site 8 at Mullica River						
Mike	Black Foot	1	Confirmed	1	1	Hiking in Friday Batsto to Quaker Bridge to Mullica. Hiking directly from Mullica to Batsto on Sunday	Reserved Site 7						
Dan	Tinkr	1	Confirmed	1	1	Hiking in Friday Batsto to Quaker Bridge to Mullica. Hiking directly from Mullica to Batsto on Sunday	Reserved Site 7						
Mike	njredneck	3	Confirmed	3	3	hiking in Friday with my boys. hiking out Sunday							
Craig	SilvrSurfr	1	Confirmed	1	1	Hiking in Friday Batsto to Quaker Bridge to Mullica. Hiking directly from Mullica to Batsto on Sunday	Reserved Site 4						
Ron	Pilsburythrowboy12	1	confirmed	1	1	Hiking in friday							
Chris	Chris183	2	confirmed	2	2	Hiking in friday							
P-Diddy	Ratdog	2	Confirmed	2	1	Will deliver wood to cache drop area, same as last year. Wood will be delivered b4 Fri.							
	NJsurfer	1	Confirmed		1								
Possibles													
Steve	Deadphans	1	Maybe	?	maybe	Friday is up in the air, I can most likely make it Saturday							
Frank	Tree Frog	1	Hopeful	0	hopeful	Hiking in Saturday from Atsion							
Total:				12	12								

Friday Diapar		Saturday			Sunday		
Lunch	Dinner	Breakfast	Lunch	Dinner	Breakfast	Lunch	
BYO	Steak Fajitas	Coffee	BYO	Ribs in Dutch Oven	Coffee	BYO	
(hike in)	Onions & Peppers	Eggs & Bacon	(Day hike?)	Potatoes 2 Ways	Eggs & Bacon	(hike out)	
	Homemade Salsa	Tortillas		(Baked, Garlic Dill)	Tortillas		
	Tortillas	Salsa		Vegetable Jambot	Salsa		
				Bread	Leftover Hash		

Image: state Image: state Image: state Image: state Image: state Image: state Image: state I					
Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state <td< td=""><td></td><td></td><td></td><td></td></td<>					
Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state Image: state <td< td=""><td></td><td></td><td></td><td></td></td<>					
Image: state					
Image: state in the state i					
Image: stateImage: s					
Image: state in the state i					
Image: set of the set of th					
Image: state interpretain state int					
Image: state intermediate in					
Image: state in the state i					
Image: state in the state in					
Image: stateImage: state <td< td=""><td></td><td></td><td></td><td></td></td<>					
Image: state in the state in					
IndexI					
Index<					
Image: state in the state in					
Image: series of the series					
Image: state in the state in					
Image: state of the state of					
Index <th index<="" index<th="" td=""><td></td><td></td><td></td><td></td></th>	<td></td> <td></td> <td></td> <td></td>				
Index<					
Image: state in the state in					
Image: series of the series					
Image: section of the section of th					
Image: section of the section of th					
Image: state in the state in					
Image: selection of the					
Image: series of the series					
Image: series of the series					
Image: section of the section of th					
Image: state in the state in					
Image: bottomImage:					
Image: selection of the					
Image: selection of the					
Image: series of the series					
Image: state of the state of					
Image: Constraint of the second se					
Image: state in the state					
Image: second					
Image: second					
Image: Constraint of the second sec					

Index
Index<
Image: state in the state in
Image: series of the series
Index<
Indext in the second
Indext<
Image: series of the series
Image: state
Image: series of the series
Index<
Indext<
Indext
Image: series of the series
Image: state s
Image: constraint of the state of
Image: series of the
Image: select
Image: Constraint of the second sec
Image: Constraint of the second sec
Image: Constraint of the second sec
Image: second
Image: second

Item		Unit	Quantity	Cost		Who's Bringing It
0/4						
Sites						
Site Registration Fee		\$9.25	3.00	\$27.75		
Per Person Site Fee (for 2 nights)		\$6.00	13.00	\$78.00		
Overage for 2 out-of-state		\$4.00	2.00	\$8.00		
		¢ 1.00	2.00	\$0.00		
Site Cost Subtotal				\$113.75		
Food						
Ribs - per rack	x	\$10.00	8.00	\$80.00		njredneck
Potatoes - 5lbs	x	\$3.00	2.00	\$6.00		njredneck
Vegetables for Jambot				\$8.00	estimate	SilvrSurfr
Bread				\$5.99	estimate	SilvrSurfr
Garlic				\$1.50		SilvrSurfr
Bacon 3lbs	x	\$9.79	1.00	\$9.79		njredneck
Eggs - 2 dozen	x	\$2.74	2.00	\$5.48		njredneck
Fortillas - 20ct	x	\$2.99	3.00	\$8.97		njredneck
Cheese - 4 cup bag store brand cheddar	x	\$7.99	1.00	\$7.99		njredneck
Steak for Fajitas		\$20.00	1.00	\$20.00	estimate	SO
Dnions	x	\$2.49	1.00	\$3.00	ootaniato	njredneck
Peppers	x	41 .10		\$4.99		SO
Sour Cream	x	\$1.99	1.00	\$1.99		njredneck
Salsa (homemade)				\$8.00	estimate	silvrsurfr
· · · · · ·						
Coffee (local roasted)				\$14.00		silvrsurfr
Half & Half	х	\$1.99	1.00	\$1.99		njredneck
Sugar	x	\$0.99	1.00	\$0.99		SO
Olive Oil	x			\$5.99		SO
Food Cost Subtotal				\$194.67		
e						
Other						
Wood/Charcoal	x			\$35.00	estimate	NJR/Ratdog
Eating supplies (plates, utensils, napkins, foil)	x			\$15.00	estimate	SO
Other Cost Subtotal				\$50.00		
Total				\$358.42		
Per Person Cost @	11	People	=	\$32.58		
Per Person Cost @	12	People	=	\$29.87		
Per Person Cost @	13	People	=	\$27.57		
Per Person Cost @	14	People	=	\$25.60		